


T o1
T & fiE G Bl B G E ER = i %
BT
A T TS YR A WHE + m3 83.3 83
RN i S 1) £ o4 2N [ m3 4.0 4
TERFR LA fFE3Es% A0 [ m3|  131.7 130
PERE T
B HTHERE T & PERE(D)
) A HERE(2)
E¥(+T IR WHE + m3 79.1 79
D WE+ m3 32.4 32
IR T
AT T F H )l 300 X 300 m 40.3 40
eV
LS T-25 78 33.0 33
rVv=ForE Wik M E . BEERS IR
LS T-25 78 9.0 9
BIET aE ¢ 300 m 11.4 114.4+7.0=
VP ¢ 150 m 7.5 7
KRBT RKPEK 550 X 500 X 700 & FIT 1.0 1
HERPEK2 500 X800X900  fHT 1.0 1
HEKPIKS 5005001200  fHfT 1.0 1
7V—F)'#5 (T-25) | 400 X500 ]
= 110° BB, 01k, M E . SEEp | 2.0 2
ARGk ¢ 150/ A 1.0 1
E¥(+T IR WHE + m3 29.2 29
HRED WE+ m3 23.6 23
(o i
FEAUBSEM T H—FL— Gr-C-2B m 16.8 16




T 0.2
T & & B mooml B BN R R EEERE i 2
AHEET
AT Ve T A IE m2  319.5 319
HAI79v%7/RC-40
TAT7 7 VMEHEE T INEL S t=15cm m2  319.5 319
AR
Bz t=10cm m2 319.5 319
FEERIEET A0y
e t=5cm m2  319.5 319
HAI79%7/RC-40
a7 —MiET s t=10cm m2 9.6 9
27— 18-8-40
F=E t=7cm m2 9.6 9
IS T
)Y —MEEY)
RS IEEL T. kL R 7 —k m3 5.2 5
ASERTERRBUEL t=bcm m2  321.4 321 321%0.05=16m3
AST o4 — t=5cm m 9.2 9
HekissEmfE T HTE s 600%400%100 % 8.0 8/0.2m3
H—RL—/L
BhHsEMRE T | DM Gr-C—4E m 29.0 29
BOEHR LR R 7 —k m3 5.2 5
Bz 7)—h m3 0.2 0.2




B R

§ 2.



+ T &£ B %
(m3)
T | Al K + K R D
TEE T 83.3 4.0
BERE T 79.1 32.4
(U 4.0 4.0
BHE 10.3 8.0
HeE 5.3 4.5
SN N T
EIKHEK L 1.4 1.0
AR KK 2 2.9 2.2
KK 5.4 3.9
= 83.3 4.0 108.4 56.0
E¥7E 1+ = 83.3+108.4- (4.0+56.0) =131.7 m3




T+ & i B E (No.
1wl ® t
WA R OBE | WREAY CPHNTEA b R | WAER TN B i %=
m m2 m2 m3 m2 m2 m3
No.0+10.9 0.0 1.1 e - B
No.1+5.2 14.3 1.2 1.15 16.4 -
No.1+18.3 13.1 1.1 1.15 15.1 -
No.2+3.6 5.3 1.3 1.20 6.4 0.1 - -
No.2+10.0 6.4 1.3 1.30 8.3 0.1 0.10 0.6
No.2+15.2 5.2 1.3 1.30 6.8 0.1 0.10 0.5
No.3+5.9 10.7 1.0 1.15 12.3 0.1 0.10 1.1
No.4 14.1 1.0 1.00 14.1 0.1 0.10 1.4
NO.4+3.86 3.9 1.0 1.00 3.9 0.1 0.10 0.4
&t 83.3 4.0




2-2.PERE T

& f G E
4 R A i H oK AR N RS & HAL
R
) A HERE(]) RC-40, t=15cm 5"
27 —h
18-8-40 27.4  m3
H Hiubf A
KEEANAT A
R
) A HERE(2) RC-40, t=15cm 5"
27—k
18-8-40 4.1 m3
H Hiubf A
KEEANAT i
E¥+T #ii 79.1  m3
# R D 32.4 m3
E¥(+T #ii 72.2  m3
# R D 44.8  m3




GW15 & J1HERE()

H=1.5~2.0m L=16.8m ¥ B i A E= 1524 1) No.
£ Fr Gl it H K ok sF ik ¥ & | BT S
27 —p 18-8-40 1/2%(1.163+1.800)%9.1
+1.800%7.717 = 27.372 27.4  m3
RC-40
Fe e t=15cm 5"
T M HEE AR
H # A4 t=10mm e
K47 VP ¢ 75 H
300 X 300
W LB IEAE X 50 H
L E 1/2%(1.25+1.50)%9.1
+1.50%7.717 24.088 24.1 m2
+ T B 63.8 | m3 1Bz
HERED 25.2 | m3 Bz g




GW15 H J1HERE(2)

H=0.919~1.016m L[=6.5m ¥ B i A E= 1524 1) No.
£ Fr ]l i & K« 2R NI S ¥ & Hfr S
=VZUR 18-8-40 0.664%0.942

+1/2%(0.664+0.579)%5.2
+0.579%0.379 = 4.077 41 m3
RC-40
Fe e t=15cm "
T M HEE AR
H # A4 t=10mm B3
IKERNAT VP ¢ 75 B
300 X 300
% HUBEIEAS X 50 s
L E 1.01%0.942
+1/2%(1.01+0.96)%5.2
+0.96%0.379 = 6.437 6.4 m2
+ T £ 10.3 m3
MR D 4.0 m3




2-3./NRK S T

o= £ R
% B ol i HJH K R S B B B BT
H A RS 300X 300 = 40.30 40.3 m
) —hE 8Kr/10m
R T-25 8/10.0%40.3 = 32.2 32 K
r—FursE 282/10m
R =% T-25 2/10.0%40.3 = 8.1 8|
B ¢ 300 4.4+7.0 = 11.40 114 m
Hew $ 150 75| m
HARBEKL 500X 500 X 700 1| T
AP 500 % 500 X 800 1| T
HARPKS 500X 500 X 1400 1| T
rV—FEs 400 X 500 4
TV—Fur ks T-25 v = 2.0 2
Ay KA ¢ 150 1 #A
¢» 300H 1 M
E¥+T b 29.2 | m3
HED 23.6 | m3

10



11

H A BL I
(300 X 300~397) R 10m24Y No.
£ B el it H K ok SF ik ¥ & Hfr L
H B A B 300X 300 10/2.0 = 5.000 5.0 i
AN =havy)—h 18-8-25 0.30%0.05%10 = 0.150 0.2 m3
FEAgEay 7 —b 18-8-40 0.51%0.10%10 = 0.510 0.5 m3
[A] [ 0.10%2%10 = 2.000 2.0 m2
RC-40
A t=10cm 0.51%10 = 5.100 5.1 m2
FmHEIE 0.51%10 = 5.100 5.1 m2
T-25
))—hE 300/H 2#/2m X 10-2.0%¢ = 8.00 8.0 | W&k
T-25
Az 300 14%/5m 2.0 M R&E L




12

ERHE ¢ 300 gl - 10m4Y) No.
£ B el i & K« 2R NI RS ¥ & Hfr L
G BZ-300 10/2.0 = 5.000 5.0 K
RC-40
A t=15cm 0.34%10 = 3.400 3.4 | m2
FmHEIE 0.34%10 = 3.400 3.4 | m2
FEfgEay 7 —b 18-8-40 0.1%0.44%10 = 0.44 0.4 m3
FEpRER 0.1%2%10 = 2.00 20 nf




13

VP ¢ 150 o B i A E 10m24Y No.
£ B i | i & K« 2R NI RS ¥ & | AL L
e é 150 10/4.0 = 2.500 2.5 f@
12 (0.5%0.35—(0.075"2%PI( ))) *10 = 1.573 1.6 | m3
FmHEIE 0.5%10 = 5.000 5.0 m2




14

FEKHEK] 550%500%700 R 13249 No.
£ B el i & K« 2R NI RS ¥ & Hfr L
2y —h 18-8-40 1/2%(0.7+0.43)%0.8 = 0.452
-1/2#(0.7+0.33)*0.5 -0.258
-0.3%0.395%0.15 -0.018
—(0.15"2%PI( ) %0.15) -0.011
-0.053
-1/2%(0.4+0.3)%0.15 = 0.114 0.1 m3
i 1/2#(0.7+0.43)*0.85%2+0.8%0.85 = 1.641
+1/24(0.55+0.33)*0.85%2 0.748
+0.5%0.85-0.3%0.395%2 0.188
+0.395%0.15%2-(0.15"2%PI( )*2) -0.023
-0.120
-1/2%(0.4+0.3)*0.3%2+0.3%0. 1 5%2 = 0.793 0.8 m2
RC-40
A t=15cm 0.43%0.8 = 0.344 0.3 m2
FmHEIE 0.43%0.8 = 0.344 0.3 m2
+ T b1 1.4 m3 | Bh&EH -
HERED 1.0 m3 | Bh&E Lk




15

F£KBEK2  500%800%900 R 15240 No.
£ B el i & K« 2R NI S ¥ & Hfr L
=VZUR 18-8-40 0.8%1.1%1.05-0.5%0.8%0.9 = 0.564
—(0.075"2%PI( ) %0.15) -0.003
-0.021
—(0.15"2%PI( ) *0.15%2) = 0.540 0.5 | m3
i 0.8%1.1%1.05%4+0.5%0.8%1.05%4 = 5.376
—(0.15"2%PI( ) *0.15%4) -0.042
-0.005
—(0.075°2%PI( ) *0.15%2) = 5.328 5.3 | m3
T-25 Wik B . BREbE
rU—FormEE 400%500 4 110° BAFA =#dk 2.0 M | Bh&EHE
FIARSy ke é 1507 1.0 # | Bh&EFE
RC-40
A t=15cm 0.9%1.2 = 1.080 1.1 m2
FmHEIE 0.9%1.2 = 1.080 1.1 m2
+ T N 29| m3 | BI&EH E
MED 2.2 m3 | B&EE
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HEKHEKS 500%500%1200 R 13249 No.
£ B el i & K« 2R NI RS ¥ & Hfr L
=VZUR 18-8-40 0.9%0.9%1.55-0.5%0.5%1.2 = 0.956
~0.3%0.3%0.2 -0.018
-0.011
—(0.15"2%PI( ) %0.15) = 0.927 0.9 | m3
i 1.0%1.0%1.35%4+0.5%0.5%1.35%4 = 6.750
~0.3%0.3%2+0.3%0.15%3 -0.045
-0.021
—(0.15"2%PI( ) *0.15%2) = 6.684 6.7 m2
RC-40
A t=15cm 1.0%1.0 = 1.000 1.0 m2
FmHEIE 1.0%1.0 = 1.000 1.0 m2
+ T b1 54| m3 | B&EH b
HERED 3.9 m3 | B&EH b




PN N T
B+ T
eSS
(m3)
Al O IR R D
18 7% 300 X 300 0.1%40.3 4.0 0.1%40.3 4.0
BfHE ¢ 300 0.9%11.4 10.3 | 0.7*11.4 8.0
e ® 150 0.7%7.5 5.3 0.6%7.5 4.5
K, 500X500X 700 1.4 1.0
K P K, 500500 %800 2.9 2.2
Ky 500 X500 X 1400 5.4 3.9
i 29.2 23.6
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2 — 4. BHEM T

%

H—=Rl—=

il

Gr-C-2B

& M

G =Y

G
iR N R - % =

16.8

HAZ

m
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H—RL—L

(27U —REA ) ¥ & 3 A &= 100m>4Y No.
& ®p =l # E X Rk ~F B ¥ & @ Hfr i =
H—Nb—n Gr-C-2B 1000 m
SD345 100/2.0

i R D13 X 1500 0.995%1.5%2x50 = 149.250 149 | kg =50f&iFT




2-5. 5l T

T W& 4 B XK
4 el # H AR N R 5 B B OHAT
T AT 7 VNG t=30cm 319.5 m2
»79%7RC-40
T8 R t=15cm 319.5 m2
AR
b g t=10cm 319.5 m2
FRAEFRLIE T A3y
* )= t=bcm 319.5 m2
a7 — Mgk t=Tcm 9.6 m2
J99%7RC-40
il t=10cm 9.6 m2
27 —M18-8-40)
= = t=7cm 9.6 | m2

20



21

7777 VW mfE i B OE (No. )
o | B B THIE | & O g Tl | o R | T
m m m m2 m m2
No.0+10.9 0.0 4.4 - -
No.1+5.2 14.3 5.2 4.80 68.6
No.1+18.3 13.1 4.1 4.65 60.9
No.2+10.0 11.7 4.5 4.30 50.3
No.2+15.2 5.2 4.1 4.30 22.4
No.3+5.9 10.7 4.2 4.15 44.4
No.4 14.1 3.9 4.05 57.1
NO.4+3.86 3.9 4.3 4.10 15.8
it 319.5




) — N mofg B B OE (No.

i CER I R I T I R I T

m m m m2 m m m2

No.2+3.6 0.0 0.2 -— -—

No.2+10.0 6.4 0.2 0.20 1.3
No.2+12.4 2.4 0.2 0.20 0.5
/NEt 1.8
No.2+17.4 0.0 0.3 -— -—

No.3+5.9 8.0 0.3 0.30 2.4
NO.4 14.1 0.3 0.30 4.2
NO.4+3.86 3.9 0.3 0.30 1.2
it 7.8
ot 9.6




2-6 S L

23

RS BEL T & P HE E 13241 Nol
% By &l it H K AR NI RS ¥ B HAL i =
)~ MEEY)
gL
AL 1 L= 35.2m
V= (0.45%0.45-0.3%0.3) %¥35.2 = 3.960 4.0 m3
300 150
Y B
TAREEEL 2 L= 4.8m
V= (0.7%0.45-0.3%0.2—0.4%0.1) ¥4.8 = 1.032 1.0 m3
00
150 400 |50
300
EEiET
SERBERUEL 1 &
V= 0.45%0.85-0.3%0.7 = 0.173 0.2 m3
300 150
\ B
it 4.0+1.040.2 = 5.200 5.2 | m3
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SREMURIEL m e i B OE (No. )
o | B B THIE | & O g Tl | o R | T
m m m m2 m m2
No.0+10.9 0.0 5.1 - -
No.1+5.2 14.3 4.5 4.80 68.6
No.1+18.3 13.1 4.2 4.35 57.0
No.2+10.0 11.7 4.6 4.40 51.5
No.2+15.2 5.2 4.2 4.40 22.9
No.3+5.9 10.7 4.4 4.30 46.0
No.4 14.1 4.0 4.20 59.2
NO.4+3.86 3.9 4.4 4.20 16.2
it 321.4






